Practice Exam 1

[1] Solve the following system of equations:

$$\begin{bmatrix} 2 & -1 & 0 & 0 \\ -1 & 2 & -1 & 0 \\ 0 & -1 & 2 & -1 \\ 0 & 0 & -1 & 2 \end{bmatrix} \begin{bmatrix} w \\ x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 1 \\ 0 \\ 0 \\ 6 \end{bmatrix}$$

[2] Compute a matrix giving the number of walks of length 4 between pairs of vertices of the following graph:



[3] Express the following matrix as a product of elementary matrices:

[4] Compute the determinant of the following 4×4 matrix:

$$\begin{bmatrix} \lambda & 1 & 0 & 0 \\ 1 & \lambda & 1 & 0 \\ 0 & 1 & \lambda & 1 \\ 0 & 0 & 1 & \lambda \end{bmatrix}$$

What can you say about the determinant of the $n \times n$ matrix with the same pattern?

[5] Use Cramer's rule to give a formula for w in the solution to the following system of equations:

$$\begin{bmatrix} 2 & -1 & 0 & 0 \\ -1 & 2 & -1 & 0 \\ 0 & -1 & 2 & -1 \\ 0 & 0 & -1 & 2 \end{bmatrix} \begin{bmatrix} w \\ x \\ y \\ z \end{bmatrix} = \begin{bmatrix} a \\ b \\ c \\ d \end{bmatrix}$$

Exam 1

[1] Solve the following system of equations:

0	1	1]	$\begin{bmatrix} x \end{bmatrix}$		$\lceil 2 \rceil$	
1	0	1	y	=	0	
_ 1	1	0	$\lfloor z \rfloor$			

[2] Compute matrices giving the number of walks of lengths 1, 2, and 3 between pairs of vertices of the following graph:



[3] Express the following matrix as a product of elementary matrices:

$$\left[\begin{array}{rrrr} 0 & 1 & 1 \\ 1 & 0 & 1 \\ 1 & 1 & 0 \end{array}\right]$$

[4] Compute the determinant of the following 4×4 matrix:

$$\begin{bmatrix} 1 & 1 & 1 & 0 \\ 2 & 2 & 0 & 2 \\ 3 & 0 & 3 & 3 \\ 0 & 4 & 4 & 4 \end{bmatrix}$$

What can you say about the determinant of the $n \times n$ matrix with the same pattern?

[5] Use Cramer's rule to give a formula for the solution to the following system of equations:

$$\begin{bmatrix} 0 & 1 & 1 \\ 1 & 0 & 1 \\ 1 & 1 & 0 \end{bmatrix} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 2a \\ 2b \\ 2c \end{bmatrix}$$

Practice Exam 2

[1] Let P be the set of all polynomials f(x), and let Q be the subset of P consisting of all polynomials f(x) so f(0) = f(1) = 0. Show that Q is a subspace of P.

[2] Let A be the matrix

$$A = \begin{bmatrix} 1 & -1 & 1 \\ 2 & -2 & 2 \\ 1 & -1 & 0 \end{bmatrix}.$$

Compute the row space and column space of A.

[3] The four vectors

$$\mathbf{v}_1 = \begin{bmatrix} 1\\0\\2 \end{bmatrix}, \quad \mathbf{v}_2 = \begin{bmatrix} -1\\0\\-2 \end{bmatrix}, \quad \mathbf{v}_3 = \begin{bmatrix} 1\\2\\6 \end{bmatrix}, \quad \mathbf{v}_4 = \begin{bmatrix} 0\\1\\2 \end{bmatrix}$$

span a subspace V of \mathbb{R}^3 , but are not a basis for V. Choose a subset of $\{\mathbf{v}_1, \mathbf{v}_2, \mathbf{v}_3, \mathbf{v}_4\}$ which forms a basis for V. Extend this basis for V to a basis for \mathbb{R}^3 .

[4] Let L be the linear transformation from \mathbb{R}^3 to \mathbb{R}^3 which rotates one half turn around the axis given by the vector (1, 1, 1). Find a matrix A representing L with respect to the standard basis

$$\mathbf{e}_1 = \begin{bmatrix} 1\\0\\0 \end{bmatrix}, \quad \mathbf{e}_2 = \begin{bmatrix} 0\\1\\0 \end{bmatrix}, \quad \mathbf{e}_3 = \begin{bmatrix} 0\\0\\1 \end{bmatrix}.$$

Choose a new basis $\{\mathbf{v}_1, \mathbf{v}_2, \mathbf{v}_3\}$ for \mathbb{R}^3 which makes *L* easier to describe, and find a matrix *B* representing *L* with respect to this new basis.

[5] Let $\{\mathbf{e}_1, \mathbf{e}_2\}$ and $\{\mathbf{v}_1, \mathbf{v}_2\}$ be ordered bases for \mathbb{R}^2 , and let *L* be the linear transformation represented by the matrix *A* with respect to $\{\mathbf{e}_1, \mathbf{e}_2\}$, where

$$\mathbf{e}_1 = \begin{bmatrix} 1\\0 \end{bmatrix}, \quad \mathbf{e}_2 = \begin{bmatrix} 0\\1 \end{bmatrix}, \quad \mathbf{v}_1 = \begin{bmatrix} 2\\1 \end{bmatrix}, \quad \mathbf{v}_2 = \begin{bmatrix} 1\\-2 \end{bmatrix}, \quad A = \begin{bmatrix} 6&-2\\-2&9 \end{bmatrix},$$

Find the transition matrix S corresponding to the change of basis from $\{\mathbf{e}_1, \mathbf{e}_2\}$ to $\{\mathbf{v}_1, \mathbf{v}_2\}$. Find a matrix B representing L with respect to $\{\mathbf{v}_1, \mathbf{v}_2\}$.

Exam 2

[1] Let P be the set of all degree ≤ 4 polynomials in one variable x with real coefficients. Let Q be the subset of P consisting of all odd polynomials, i.e. all polynomials f(x) so f(-x) = -f(x). Show that Q is a subspace of P. Choose a basis for Q. Extend this basis for Q to a basis for P.

[2] Let A be the matrix

Compute the row space and column space of A.

[3] Let *L* be the linear transformation from \mathbb{R}^3 to \mathbb{R}^3 which reflects through the plane *P* defined by x + y + z = 0. In other words, if **u** is a vector lying in the plane *P*, and **v** is a vector perpendicular to the plane *P*, then $L(\mathbf{u} + \mathbf{v}) = \mathbf{u} - \mathbf{v}$. Choose a basis $\{\mathbf{v}_1, \mathbf{v}_2, \mathbf{v}_3\}$ for \mathbb{R}^3 , and find a matrix *A* representing *L* with respect to this basis.

[4] Let $\{\mathbf{e}_1, \mathbf{e}_2\}$ and $\{\mathbf{v}_1, \mathbf{v}_2\}$ be ordered bases for \mathbb{R}^2 , and let *L* be the linear transformation represented by the matrix *A* with respect to $\{\mathbf{e}_1, \mathbf{e}_2\}$, where

$$\mathbf{e}_1 = \begin{bmatrix} 1\\0 \end{bmatrix}, \quad \mathbf{e}_2 = \begin{bmatrix} 0\\1 \end{bmatrix}, \quad \mathbf{v}_1 = \begin{bmatrix} 1\\1 \end{bmatrix}, \quad \mathbf{v}_2 = \begin{bmatrix} 1\\2 \end{bmatrix}, \quad A = \begin{bmatrix} -1 & 2\\ -4 & 5 \end{bmatrix}.$$

Find the transition matrix S corresponding to the change of basis from $\{\mathbf{e}_1, \mathbf{e}_2\}$ to $\{\mathbf{v}_1, \mathbf{v}_2\}$. Find a matrix B representing L with respect to $\{\mathbf{v}_1, \mathbf{v}_2\}$.

[5] Let $\{\mathbf{u}_1, \mathbf{u}_2\}$, $\{\mathbf{v}_1, \mathbf{v}_2\}$, and $\{\mathbf{w}_1, \mathbf{w}_2\}$ be ordered bases for \mathbb{R}^2 . If

$$A = \begin{bmatrix} 1 & 2 \\ 0 & 1 \end{bmatrix}$$

is the transition matrix corresponding to the change of basis from $\{\mathbf{u}_1, \mathbf{u}_2\}$ to $\{\mathbf{v}_1, \mathbf{v}_2\}$, and

$$B = \begin{bmatrix} 1 & 0 \\ 3 & 1 \end{bmatrix}$$

is the transition matrix corresponding to the change of basis from $\{\mathbf{u}_1, \mathbf{u}_2\}$ to $\{\mathbf{w}_1, \mathbf{w}_2\}$, express \mathbf{v}_1 and \mathbf{v}_2 in terms of \mathbf{w}_1 and \mathbf{w}_2 .

Additional Practice Problems for Final

[1] By least squares, find the equation of the form y = ax + b which best fits the data $(x_1, y_1) = (0, 1), (x_2, y_2) = (1, 1), (x_3, y_3) = (2, -1).$

[2] Find
$$(s,t)$$
 so $\begin{bmatrix} 1 & 0 \\ -1 & 1 \\ 0 & -1 \end{bmatrix} \begin{bmatrix} s \\ t \end{bmatrix}$ is as close as possible to $\begin{bmatrix} 1 \\ 0 \\ 0 \end{bmatrix}$.

[3] Find an orthogonal basis for the subspace w + x + y + z = 0 of \mathbb{R}^4 .

[4] Let A be the matrix

$$A = \begin{bmatrix} -3 & -4 \\ -4 & 3 \end{bmatrix}.$$

Find a basis of eigenvectors and eigenvalues for A. Find the matrix exponential e^A .

[5] Find a matrix A in standard coordinates having eigenvectors $\mathbf{v}_1 = (1, 1)$, $\mathbf{v}_2 = (1, 2)$ with corresponding eigenvalues $\lambda_1 = 2$, $\lambda_2 = -1$.

[6] Let A be the matrix

$$A = \begin{bmatrix} 2 & 1 & 1 \\ 1 & 2 & 1 \\ 1 & 1 & 2 \end{bmatrix}.$$

Find an orthogonal basis in which A is diagonal.

Final Exam

Linear Algebra, Dave Bayer, December 16, 1999

Please work only one problem per page, starting with the pages provided, and number all continuations clearly. Only work which can be found in this way will be graded.

Please do not use calculators or decimal notation.

[1] Let L be the linear transformation from \mathbb{R}^3 to \mathbb{R}^3 which projects onto the line (1, 1, 1). In other words, if **u** is a vector in \mathbb{R}^3 , then $L(\mathbf{u})$ is the projection of **u** onto the vector (1, 1, 1). Choose a basis $\{\mathbf{v}_1, \mathbf{v}_2, \mathbf{v}_3\}$ for \mathbb{R}^3 , and find a matrix A representing L with respect to this basis.

[2] Compute the determinant of the following 4×4 matrix:

$$\begin{bmatrix} 2 & -1 & 0 & 0 \\ -1 & 2 & -1 & 0 \\ 0 & -1 & 2 & -1 \\ 0 & 0 & -1 & 2 \end{bmatrix}$$

What can you say about the determinant of the $n \times n$ matrix with the same pattern?

[3] By least squares, find the equation of the form y = ax + b which best fits the data $(x_1, y_1) = (0, 0), (x_2, y_2) = (1, 1), (x_3, y_3) = (3, 1).$

[4] Find
$$(s,t)$$
 so $\begin{bmatrix} 1 & 0 \\ 0 & 1 \\ 1 & 1 \end{bmatrix} \begin{bmatrix} s \\ t \end{bmatrix}$ is as close as possible to $\begin{bmatrix} 1 \\ 1 \\ 0 \end{bmatrix}$.

[5] Find an orthogonal basis for the subspace w + 2x + 3y + 4z = 0 of \mathbb{R}^4 .

[6] Let A be the matrix

$$A = \begin{bmatrix} 3 & 2 \\ 2 & 3 \end{bmatrix}$$

Find a basis of eigenvectors and eigenvalues for A. Find the matrix exponential e^A .

[7] Let A be the matrix

$$A = \begin{bmatrix} 2 & 0 & 1 \\ 0 & 3 & 0 \\ 1 & 0 & 2 \end{bmatrix}.$$

Find an orthogonal basis in which A is diagonal.

[8] Find a matrix A so the substitution

$$\left[\begin{array}{c} x\\ y \end{array}\right] = A \left[\begin{array}{c} s\\ t \end{array}\right]$$

transforms the quadratic form $x^2 + 4xy + y^2$ into the quadratic form $s^2 - t^2$.

Final Exam

Linear Algebra, Dave Bayer, December 16, 1999

(cone under exam conditions) Name:

ID: _

School: .

[1] (5 pts)	[2] (5 pts)	[3] (5 pts)	[4] (5 pts)	
(=) (=	101 (5)	((2) (2	
[5] (5 pts)	[6] (5 pts)	[7] (5 pts)	[8] (5 pts)	TOTAL

Please work only one problem per page, starting with the pages provided, and number all continuations clearly. Only work which can be found in this way will be graded.

Please do not use calculators or decimal notation.

[1] Let L be the linear transformation from \mathbb{R}^3 to \mathbb{R}^3 which projects onto the line (1, 1, 1). In other words, if **u** is a vector in \mathbb{R}^3 , then $L(\mathbf{u})$ is the projection of **u** onto the vector (1, 1, 1). Choose a basis $\{\mathbf{v}_1, \mathbf{v}_2, \mathbf{v}_3\}$ for \mathbb{R}^3 , and find a matrix A representing L with respect to this basis.

Continued on page: ______

Page 1

Problem: $\underline{\Box}$ Second Solution: L takes any rector \bot to (1,1,1) to 0 \iff $\lambda=0$ has eigenspace \bot to (1,1,1) \bot takes (1,1,1) to itself \iff $\lambda=1$ has eigenspace spanned by (1,1,1)So choose eigenvector basis $\{(1,-1,0), (0,1,-1), (1,1,1)\} = V$ \bot to (1,1,1) $\lambda=1$ $\lambda=0$

In this basis we know A is diagonal w/ eigenvalue entries:



 $[\mathbf{2}]$ Compute the determinant of the following 4×4 matrix:

$$\begin{pmatrix} + \\ + \\ + \\ + \\ \end{pmatrix} \begin{bmatrix} 2 \\ -1 \\ 0 \\ -1 \\ 0 \\ 0 \\ -1 \\ 2 \\ -1 \\ 0 \\ -1 \\ 2 \end{bmatrix} (expand down 1^{st} column)$$

What can you say about the determinant of the $n \times n$ matrix with the same pattern?

Let
$$f(n) = dt$$
 of $n \times n$ matrix with some pattern.
 $f(4) = +2\begin{vmatrix} 2-1\\ -1 & 2-1\\ -1 & 2\end{vmatrix} +1\begin{vmatrix} -1 & 0 & 0\\ -1 & 2-1\\ 0 & -1 & 2\end{vmatrix}$
 $\begin{pmatrix} 100\\ -1 & 21\\ 0 & -1 & 2\end{vmatrix} = -1\begin{vmatrix} 2-1\\ -1 & 2\end{vmatrix}$
 $f(3) = \begin{vmatrix} 2\\ -1 & 2\\ -1 & 2\end{vmatrix} +2\begin{vmatrix} 2-1\\ -1 & 2\end{vmatrix} +1\begin{vmatrix} -1 & 0\\ -1 & 2\end{vmatrix} = 2\begin{vmatrix} 2-1\\ -1 & 2\end{vmatrix} -1\begin{vmatrix} 2\\ -1 & 2\end{vmatrix}$
 $f(2) = \begin{vmatrix} 2-1\\ -1 & 2\end{vmatrix} = +2\begin{vmatrix} 2-1\\ -1 & 2\end{vmatrix} +1\begin{vmatrix} -1 & 0\\ -1 & 2\end{vmatrix} = 2f(2) - f(1)$
 $f(2) = \begin{vmatrix} 2-1\\ -1 & 2\end{vmatrix} = \frac{4}{3}3$ so $f(3) = 2\cdot3-2 = 4$??
 $f(1) = 2$
 $f(4) = 2f(3) - f(2)$
 $= 2\cdot4-3 = 5$ hmm?
gressing here that $f(n) = n+1$. Thus for $n = 1, 2, 3, 4$
 $f(n+1) \stackrel{?}{=} 2f(n) - f(n-1)$
 $n+2 & 2(n+1) - n$ (2) proved by induction!!
Pattern is nxin determinant = n+1]
Page 3 Over for another tryin
Continued on page: $\frac{4}{4}$

Continued on page: _____

[3] By least squares, find the equation of the form y = ax + b which best fits the data $(x_1, y_1) = (0, 0), (x_2, y_2) = (1, 1), (x_3, y_3) = (3, 1).$



[4] Find
$$(s,t)$$
 so $\begin{bmatrix} 1 & 0 \\ 0 & 1 \\ 1 & 1 \end{bmatrix} \begin{bmatrix} s \\ t \end{bmatrix}$ is as close as possible to $\begin{bmatrix} 1 \\ 1 \\ 0 \end{bmatrix}$.
count solve $\begin{bmatrix} 10 \\ 0 \\ 1 \\ 1 \end{bmatrix} \begin{bmatrix} s \\ t \end{bmatrix} = \begin{bmatrix} 1 \\ 0 \end{bmatrix}$ exactly, Over determined 'Ax=b'' instead:
so "ATAx = ATb'' instead:
 $\begin{bmatrix} 1 & 0 \\ 0 & 1 \end{bmatrix} \begin{bmatrix} 1 \\ 0 \\ 1 \end{bmatrix} \begin{bmatrix} 1 \\ t \end{bmatrix} = \begin{bmatrix} 1 \\ 0 \end{bmatrix}$ (for us!)
 $\begin{bmatrix} 1 & 0 \\ 0 & 1 \end{bmatrix} \begin{bmatrix} 1 \\ 0 \end{bmatrix} \begin{bmatrix}$



Continued on page: ____

Problem: _____



Continued on page: _____

.

not outhonormal i.e. lengths don't have to be 1.

[5] Find an orthogonal basis for the subspace w + 2x + 3y + 4z = 0 of \mathbb{R}^4 .

First, equation is 1 condition on 4 dimensions, leaving subspace of dim = 3. Expect basis of 3 vectors. [1] find somehow (eyeball it) 3 indep vectors I to (1,2,3,4) (this is what w+2x+3y+4z=0) means (swap and negate, rest zeros) $V_1 = (2, -1, 0, 0)$ check 1 (1,23,4) Vz = (0,3,-2,0) Vz = (0,0,4,-3) [2] Fix this up to be mutually I by Gram-Schmid W/O normalizing to layath I. $W_1 = V_1 = (2, -1, 0, 0)$ $W_2 = V_2 - (praj V_2 \text{ onto } W_1) = V_2 - (\frac{V_2 \cdot W_1}{W_1 \cdot W_1}) W_1$ $= (0, 3, -2, 0) - (-\frac{3}{5})(2, -1, 0, 0)$ = (0,3,-2,0) + (6/5,-3/5,0,0)= (6/5, 12/5, -2, 0) \sim (6, 12, -10, 0) ~ (3, 6, -5, 0) by changing length for easiest anithmetic. check (3,6,-5,0).(1,2,3,4)=0 () .(2,-1,0,0)=0 () $W_2 = (3, 6, -5, 0)$ W3 = V3 - (proj V3 onto W1) - (proj V3 onto W2) $= (0,0,4,-3) - (\frac{0}{44})(1000) - (\frac{-20}{4436+25})(3,6,-5,0)$ = (0,0,4;3) + 2 2 (3,6;-5,0) -over-

Continued on page: <u>10</u>

Page 9

Problem:
$$\frac{5}{(copy caveFilly)}$$

 $W_3 = (0, 0, 4, -3) + \frac{2}{7}(3, 6, -5, 0)$
 $\sim 7(0, 0, 4, -3) + 2(3, 6, -5, 0)$ (rescale by denom)
 $= (0, 0, 28, -21) + (6, 12, -10, 0)$
 $= (6, 12, 18, -21)$
 $\sim (2, 4, 6, -7)$ (pull out a 3)
Check: $(2, 4, 6, -7) \cdot (1, 2, 3, 4) = 2 + 8 + 18 - 28 = 0$ &
 $(2, -1, 0, 0) = 0$ &
 $W_1 = (2, -1, 0, 0)$
 $W_2 = (3, 6, 5, 0)$
 $W_3 = (2, 4, 6, -7)$

Note, perhaps eagler to choose in different order:

$$V_{1} = W_{1} = \begin{bmatrix} (2_{1}-1,0,0) \\ (0,9,1_{1}-3) \\ V_{2} = W_{2} = \begin{bmatrix} (0,9,1_{1}-3) \\ (0,9,1_{1}-3) \end{bmatrix} \\ (already \perp) \\$$

[6] Let A be the matrix

-

$$A = \begin{bmatrix} 3 & 2 \\ 2 & 3 \end{bmatrix}.$$

Find a basis of eigenvectors and eigenvalues for A. Find the matrix exponential e^A .

$$\begin{aligned} |A-\lambda I| &= \lambda^{2} - (\text{trace of } A) \lambda + (\det \text{ of } A) = 0 \\ (\text{sum of diag}) \\ \lambda^{2} - 6\lambda + 5 = 0 \quad \text{factors as } (\lambda - 1)(\lambda - 5) \\ \text{so } \lambda = 1, \text{S.} \\ \hline \lambda_{1} = 1 \quad A - 1I = \begin{bmatrix} 2 & 2 \\ 2 & 2 \end{bmatrix} \text{ has kernel basis } \underbrace{(1, -1) = V_{1}} \\ \hline \lambda_{2} = 5 \quad A - SI = \begin{bmatrix} 2 & 2 \\ 2 & -2 \end{bmatrix} \text{ has kernel basis } \underbrace{(1, -1) = V_{2}} \\ (\text{heck} \land A \text{ symmetric, and } V_{1} \perp V_{2} \text{ cs expected.} \\ (\text{heck} \land \begin{bmatrix} 3 & 2 \\ 2 & 3 \end{bmatrix} \begin{bmatrix} -1 \\ -1 \end{bmatrix} = 1 \begin{bmatrix} 1 \\ -1 \end{bmatrix} & \text{diag} \\ \underbrace{[3 & 2 & 3] \begin{bmatrix} 1 \\ 2 & 3 \end{bmatrix} = \begin{bmatrix} 1 & 1 \\ -1 & 1 \end{bmatrix} \begin{bmatrix} 1 & 0 \\ 0 & 5 \end{bmatrix} \underbrace{(1, -1) = V_{2}} \\ \text{the lawe} \quad E = \text{standard basis} \\ V = \text{eigen visit basis} \quad V_{1} = (1, -1) \quad V_{2} = (1, -1) \\ A = \begin{bmatrix} 3 & 2 \\ 2 & 3 \end{bmatrix} = \begin{bmatrix} 1 & 1 \\ -1 & 1 \end{bmatrix} \begin{bmatrix} 1 & 0 \\ 0 & 5 \end{bmatrix} \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} \begin{bmatrix} 1 & 0 \\ 0 & 5 \end{bmatrix} \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} \begin{bmatrix} 1 & -1 \\ 0 & 5 \end{bmatrix} \begin{bmatrix} 1 & -1 \\ 1 & -1 \end{bmatrix} / 2 \\ \text{the ck} : \\ \underbrace{(\text{heck} : \text{inverse rations} \\ \text{ore } V_{1}, V_{2} \end{bmatrix} = \underbrace{\begin{bmatrix} 1 & 1 \\ -1 & 1 \end{bmatrix} \begin{bmatrix} 1 & -1 \\ 0 & 5 \end{bmatrix} \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} / 2 \\ \underbrace{(\text{heck} : \text{inverse rations} \\ \text{ore } V_{1}, V_{2} \end{bmatrix} = \underbrace{\begin{bmatrix} 1 & 1 \\ -1 & 1 \end{bmatrix} \begin{bmatrix} 1 & -1 \\ 0 & 5 \end{bmatrix} / 2 \\ \underbrace{\begin{bmatrix} 6 & 4 \\ -4 & 6 \end{bmatrix} / 2 = \begin{bmatrix} 3 & 2 \\ 2 & 3 \end{bmatrix} \text{ ds} \end{aligned}$$

Problem:
$$6$$

So we can compute e^{A} by this same change of coords:
 $e^{A} = \begin{bmatrix} 1 & 1 \\ -1 & A \end{bmatrix} e^{\begin{bmatrix} 1 & 5 \\ 5 \end{bmatrix}} \begin{bmatrix} 1 & -1 \\ 1 & 1 \end{bmatrix}/2$
 $E \in E$ $E \in V$ $V \in V$ $V \in E$
 $e^{A} = \begin{bmatrix} 1 & 1 \\ -1 & A \end{bmatrix} \begin{bmatrix} e & 0 \\ 0 & e^{5} \end{bmatrix} \begin{bmatrix} 1 & -1 \\ 1 & 1 \end{bmatrix}/2$ (OK to leave in)
this form)
 $f = correct$
 $e^{A} = \begin{bmatrix} 1 & 1 \\ -1 & A \end{bmatrix} \begin{bmatrix} e^{-e} \\ e^{5} & e^{5} \end{bmatrix}/2$
 $e^{A} = \frac{1}{2} \begin{bmatrix} e+e^{5} & -e+e^{5} \\ 2e+e^{5} & e+e^{5} \end{bmatrix}$
 $e^{A} = \frac{1}{2} \begin{bmatrix} e+e^{5} & -e+e^{5} \\ 2e+e^{5} & e+e^{5} \end{bmatrix}$
 $e^{A} = \frac{1}{2} \begin{bmatrix} e+e^{5} & -e+e^{5} \\ e+e^{5} \end{bmatrix}$
 $e^{A} = \frac{1}{2} \begin{bmatrix} e+e^{5} & -e+e^{5} \\ e+e^{5} \end{bmatrix}$
 $e^{A} = \frac{1}{2} \begin{bmatrix} e+e^{5} & -e+e^{5} \\ e+e^{5} \end{bmatrix}$
 $e^{A} = \frac{1}{2} \begin{bmatrix} e+e^{5} & -e+e^{5} \\ e+e^{5} \end{bmatrix}$
 $e^{A} = \frac{1}{2} \begin{bmatrix} e+e^{5} & -e+e^{5} \\ e+e^{5} \end{bmatrix}$
 $e^{A} = \frac{1}{2} \begin{bmatrix} e+e^{5} & -e+e^{5} \\ e+e^{5} \end{bmatrix}$
 $e^{A} = \frac{1}{2} \begin{bmatrix} e+e^{5} & -e+e^{5} \\ e+e^{5} \end{bmatrix}$
 $e^{A} = \frac{1}{2} \begin{bmatrix} e+e^{5} & -e+e^{5} \\ e+e^{5} \end{bmatrix}$
 $e^{A} = \frac{1}{2} \begin{bmatrix} e+e^{5} & -e+e^{5} \\ e+e^{5} \end{bmatrix}$
 $e^{A} = \frac{1}{2} \begin{bmatrix} e+e^{5} & -e+e^{5} \\ e+e^{5} \end{bmatrix}$
 $e^{A} = \frac{1}{2} \begin{bmatrix} e+e^{5} & -e+e^{5} \\ e+e^{5} \end{bmatrix}$
 $e^{A} = \frac{1}{2} \begin{bmatrix} e+e^{5} & -e+e^{5} \\ e+e^{5} \end{bmatrix}$
 $e^{A} = \frac{1}{2} \begin{bmatrix} e+e^{5} & -e+e^{5} \\ e+e^{5} \end{bmatrix}$
 $e^{A} = \frac{1}{2} \begin{bmatrix} e+e^{5} & -e+e^{5} \\ e+e^{5} \end{bmatrix}$
 $e^{A} = \frac{1}{2} \begin{bmatrix} e+e^{5} & -e+e^{5} \\ e+e^{5} \end{bmatrix}$
 $e^{A} = \frac{1}{2} \begin{bmatrix} e+e^{5} & -e+e^{5} \\ e+e^{5} \end{bmatrix}$
 $e^{A} = \frac{1}{2} \begin{bmatrix} e+e^{5} & -e+e^{5} \\ e+e^{5} \end{bmatrix}$
 $e^{A} = \frac{1}{2} \begin{bmatrix} e+e^{5} & -e+e^{5} \\ e+e^{5} \end{bmatrix}$
 $e^{A} = \frac{1}{2} \begin{bmatrix} e+e^{5} & -e+e^{5} \\ e+e^{5} \end{bmatrix}$
 $e^{A} = \frac{1}{2} \begin{bmatrix} e+e^{5} & -e+e^{5} \\ e+e^{5} \end{bmatrix}$
 $e^{A} = \frac{1}{2} \begin{bmatrix} e+e^{5} & -e+e^{5} \\ e+e^{5} \end{bmatrix}$
 $e^{A} = \frac{1}{2} \begin{bmatrix} e+e^{5} & -e+e^{5} \\ e+e^{5} \end{bmatrix}$
 $e^{A} = \frac{1}{2} \begin{bmatrix} e+e^{5} & -e+e^{5} \\ e+e^{5} \end{bmatrix}$
 $e^{A} = \frac{1}{2} \begin{bmatrix} e+e^{5} & -e+e^{5} \\ e+e^{5} \end{bmatrix}$
 $e^{A} = \frac{1}{2} \begin{bmatrix} e+e^{5} & -e+e^{5} \\ e+e^{5} \end{bmatrix}$
 $e^{A} = \frac{1}{2} \begin{bmatrix} e+e^{5} & -e+e^{5} \\ e+e^{5} \end{bmatrix}$
 $e^{A} = \frac{1}{2} \begin{bmatrix} e+e^{5} & -e+e^{5} \\ e+e^{5} \end{bmatrix}$
 $e^{A} = \frac{1}{2} \begin{bmatrix} e+e^{5} & -e+e^{5} \\ e+e^{5} \end{bmatrix}$
 $e^{A} = \frac{1}{2} \begin{bmatrix} e+e^{5} & -e+e^{5} \\ e+e^{5} \end{bmatrix}$
 $e^{A} = \frac{1}{2} \begin{bmatrix} e+e^{5} & -e+e^{5} \\ e+e^{5} \end{bmatrix}$
 $e^{A} =$

ų.

 $[\mathbf{7}]$ Let A be the matrix

-

$$A = \begin{bmatrix} 2 & 0 & 1 \\ 0 & 3 & 0 \\ 1 & 0 & 2 \end{bmatrix}.$$

Find an orthogonal basis in which A is diagonal.

First, short direct attack by cleverness:

$$A = \begin{bmatrix} 2 \\ 2 \\ 2 \end{bmatrix} + \begin{bmatrix} 1 \\ 1 \end{bmatrix}$$
Stretches
Uniformly by 2
Stretches
 $\lambda = 2,2,2$
So combined effect is
 $(1,0,1) \mapsto (-1,0,1) = (-1,$

Problem:
$$\frac{7}{(2004)}$$
 (check copying $\frac{1}{2}$) (and check copying $\frac{1}{2}$) ($\frac{1}{2}$ ($\frac{1}{2}$ ($\frac{1}{2}$) $\frac{1}{2}$) ($\frac{1}{2}$ ($\frac{1}{2}$) ($\frac{1}{2}$

Continued on page: _____

Page 14

 $[\mathbf{8}]$ Find a matrix A so the substitution

, Ť.

$$\left[\begin{array}{c} x\\ y \end{array}\right] = A \left[\begin{array}{c} s\\ t \end{array}\right]$$

transforms the quadratic form
$$x^2 + 4xy + y^2$$
 into the quadratic form $s^2 - t^2$.
(Unfair greshing, did we do anything lifter this? We did discuss)
 $x^2 + 4xy + y^2 = [x + y] \begin{bmatrix} 1 & 2 \\ 2 & 1 \end{bmatrix} \begin{bmatrix} x \\ 4 \end{bmatrix}$
so if I can understand good coords for matrix $\binom{12}{21}$ I'll understand
Is this an eigenvector problem in disguise?
 $|A - \lambda I| = \lambda^2 - 2\lambda - 3 = (\lambda + 1)(\lambda - 3)$ so $\lambda = -1,3$
 $\lambda = -1 \cdot \begin{bmatrix} 2 & 2 \\ 2 & 2 \end{bmatrix}$ has keinel $\binom{11+1}{21} \frac{\lambda = -1}{2}$
symmetrix so $\underbrace{e_{eigenvectors}}_{(1+1)} \lambda = 3$
 $(A - \lambda I) = \binom{12}{22}$ has keinel $\binom{11+1}{21} \frac{\lambda = -1}{22}$
 $keinel \binom{12}{21} \binom{1}{41} = \binom{23}{3} = 3\binom{1}{1}, \binom{12}{21} \binom{1}{(-1)} = \binom{-1}{1} = \binom{1}{-1}$ d
 $(I had)$ writen $(1-1)$ is a grood coord system.
Let's try plugging in $x = s+t$ $y = s-t$ (inspired by $(1,1), (1,1)$)
 $x^2 + 4xy + y^2 = (s+t)^2 + 4(s+t)(s-t) + (s-t)^2$
 $= \frac{5^2}{6s^2 - 2t^2}$ Wow, pretty close.
I see the $2(\text{from Eagonvalues}.$
There's probably some theory for rescaling, but ket's dust time 1t.
Page 15

Problem:
$$\frac{S}{S}$$

I have $6s^2 - 2t^2$, want $s^2 - t^2$
replace s by $\frac{1}{16}s$, t by $\frac{1}{12}t$ would work.
Let's find this out by general substitution
 $x = as+bt$ $y = as-bt$
 $\begin{bmatrix} x \\ y \end{bmatrix} = \begin{bmatrix} a & b \\ a & -b \end{bmatrix} \begin{bmatrix} s \\ t \end{bmatrix}$
 $\begin{bmatrix} 1 \\ avess in that general theory, it's the columns of A that matcher performed in the theory of A that T is the columns of A that A the T is the columns of A that A the T is the columns of A that A the T is the columns of A that A the T is the columns of A that A the T is the columns of A theory for next the T is the columns of A theory is the columns of A that A the T is the columns of A theory for next the T is an T that A the T is the columns of A theory for next the T is an T that A the T is an T that A the T is the columns of A that T is the columns of A that T is the columns of A that T is the columns of A theory for next the T is the columns of A theory for next the T is the columns of A theory for next$